WA TIBTY/ Government of India

afafer e/ Department of Space D

fasew amrTg stafer 2/VIKRAM SARABHAI SPACE CENTRE
ToBa=TgEA/ Thiruvananthapuram-695022

daeRe-d () & ue uv =u 2 el offenr
Written Test for selection to the post of Technician-B (Fitter)

q< %./Post No. 1213

fater/Date:22.12.2012
TITE Bféﬁ/Ma_ximum Marks: 100 =79/ Time: 1 Hour 30 minutes
3neff &1 M/Name of the candidate et =2/Roll No.

N e g A

9o

10.
i

SIJS3/INSTRUCTIONS

The question paper is in the form of Question Booklet with 50 questions. Separate OMR sheet is
provided for answering.

Question booklets have been marked with A or B or C or D or E on the right.hand top corner which shall
be written on the OMR sheet in the box and bubble appropriately.

Each question is provided with multiple answers a., b., ¢., and d. Only one of them is correct, Use
Blue/Black Ball point pen only for marking your answers.

Answer all questions. All questions carry equal marks. |

Multiple answers for a question will be regarded as wrong answer.

Enter your Name and Roll Number correctly on the Question Booklet,

All entries in the OMR sheet should be with blue/black ball point pen only.

Darken the oval against which post you have applied for the examination.

Candidates are not permitted to carry any reference books, logarithm table, calculators, mobile phones
etc., to the Examination Hall.

Candidates are not permitted to leave the examination hall during the first hour of the examination.

At the end of the test, both Answer Sheet and Question Booklet shall be returned to the Invigilator.
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WRA FIH/ Government of India

3ttt faemr/Department of Space D

TR WTRTTE 3NeT 5/VIKRAM SARABHAI SPACE CENTRE
ferearmagw/ Thiruvananthapuram-695022

dhATT- ot (Rrex)

Technician - B (Fitter)

TH AF B YR A8 16 Al AR Farg 24 Bah ¥, @ 3w o & anwaa

3

a. 6430.7 g.a.}
b. 6441.7 €.’
c. 6551.7 q.3%°

d. 6560.7 T.7°,

Base diameter of a cone is 16 cm and the height is 24 mm, the volume of the cone is

a. 6430.7 cm3
b. 6441.7 cm3
6551.7 cm3
6560.7 cm?

2

o

T g4 & fov Reafaf@at d @ feger suzer frar s
a. ¥cg

b. @

c. M=

d. e

State which of the following is used for permanent fastening?

a. Stud

b. Key

c. Pin
d. Rivet
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3. ufaesd dwel @ s & fw U MRT @7 A e

a. il FI3R
b. FHET 3R
c. T @I3R
d. & 3R U=ga

Gears used for connecting intersecting shafts?
a. Helical Gear

b. Bevel Gear

c. Spur Gear

d. Rack and pinion

4.  Uh ABHT — T F IUR ¥
a. 1/1000
b. 1/100
c. 1/10
d. 1/10000

One micron is equal to —— Centimetre.
a. 1/1000

b. 1/100

c. 1/10

d. 1/10000

5. 3MOfEe Heca i s —— ¥
Shrod /|
b. TH/TH
c. fram/aae

d. H# ¥ T ot a0

is the unit of relative density.
gm/cc
m/s
kg/cm?

an o p

None of these
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a7 92T 7 AT R & AT g AR @ suHeT RRAr Sar & ity
a. EI'%STI?[%l
b. g% TEAT &

c. IE HIR T
d. gg 3% e R & Uy &ar &

Cast iron is used to manufacture machine beds because
a. Itisheavy

b. Itischeap

c. Itisbrittle

d. Itresist more compressive load

Uh FIoT & urdl 3:4:5 & quid A ¥ IR wew & urd 170 B ) s
alt arat Y oA Reder g

a. 102 1.3 wa 136 A,

b. 202 .. va 236 ..

c. 221 & wa 142 A

d. 112 .. wa 122 .

The sides of a triangle are in the ratio of 3:4:5. If the longest side is 170 mm, the
lengths of the other two sides are

a. 102mm & 136 mm
b. 202 mm & 236 mm
c. 221 mm & 142 mm
d. 112 mm & 122 mm

TqUHTYH 4l 31@' Hch

a. e, faed, eifdgs

b. Ireed, [AFd, Peiee

c. TIEH, PIATHA, gafzas

d. 9d ¥ s i A

The main constituents of HSS

a. Tungsten, Nickel, Chromium
Tungsten, Nickel, Cobalt

b
¢. Tungsten, Chromium, Vanadium
d. None of these
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9. agmmzﬁraamﬁmg—wa%l

a. s
b. &H
c. WA & H
d. a8 ¥ T oft A9
' Rubber is ————— elastic than mild steel.
a. More
b. Less

. ¢. Equal

- d. None of these

10.  Sin 30°x Cos 245° + tan 345° &l HId
a. 6/4
b. 4/5
g 54
d. 7/4

The value of Sin 30° x Cos 245° + tan 345°
a. 6/4 :

b. 4/5

c. 5/4

d. 7/4

11.  urg & frg Jorud & HROT 98 Toid HR B el Y Tl &7
a. WHT
b, IR
c. deddl
d. TS
The property of a metal by virtue of which the metal can withstand shock load

a. Hardness
b. Brittleness
c. Ductility

d. Toughness

12 a3 B @ g& el & P ddw T ————
110 F.aM.2 | |

13 .42

123 Q.32

116 {.1.°
Total surface area of sphere of radius 3 cm is
a. 110cm?
b. 113 ecm?
¢ " 123 em?
d. 116 cm?

a0 TP oW
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13.

14.

15.

16.

1537 At &1 3uaer — & forw fopar Srar ¥
a. Blg & g & AT & fow

b. &g & TS & AT F faw

c. 3UcTe IU & faw

d. 3udwd # q v o FE

Dowel pins are used for

a. Measurement of diameter of hole

b. Measurement of depth of hole

c. Hidden fastening

d. None of the above

TS FUid W Teh ¢ gRT Tell FAAarel gf —— & &R B
a. fo=

b. ol

c. HI3

d. ¥

The distance moved by a nut on one rotation is equal to
a. Pitch
b. Lead
c. Feed
d. Start

Siotel :ﬁ FATIT: 3UAET 6T FARarer ¥ 9 ——— §

d. mﬁmﬁsﬁaﬁ

In brazing, the filler metal generally used is
a. Copper Zinc alloy

b. Copper Tin alloy

c. Aluminium foil

d. None of these

AF AT URT &5 aTel TFIAT B FHA F AT 3aRTyd faax

a. ®Eey A
b. FEex [T
c. foor aifder
d. S RBfer

The hole opening which is required for screwing conical or tapered necked screws is

a. Counter Boring
b. Counter Sinking
c. Jig Boring
d. Jig drilling
Page 7 of 20
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17.

18.

19.

20.

FI/12

afg 1/2d1=1/3 %, @ &t &1 a1 P ©2
a., 2.5
b. 2

¢ 1.7
d. 1.5

If 1/2b =1/3, what is the value of b?
2.5

2

1.7

1.5

Hhes &T BT & 3qdT — & U fpar Smar §)
a. kT
b. TpfafRYET
C
d

e

. 931 A # g Aepreere & fow
. o4 § T ot F91
Second cut file is used for
Roughing
Finishing
Removing metal in large quantity
None of these

Rde & &g @ tile R d& & Jgadd g —— ¥l
a. 1.53Y
b. 331
c. 231
d. 2.58r

The minimum distance from the rivet hole centre to the plate edge is
a. 1.5d

b, ad

c. 2d

d. 2.5d

Ao o

HepAUT e T U JETedoT §
a Tﬁ?i'ﬂ R
b. TFEUEAT fhe
e ﬂ'fa?T fthe
d. ThsT fhe
is an example of transition fit.
Running fit
Expansion fit
Ringing fit
Shrinkage fit

aan oe
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21,

22,

23,

Th gH & Ufed & g 1 AT ¥ 3R 98 540 IRATHA W guia Rar & 39
g & afd —— %I

a
b.

fa

d:

101.73 fop.3fT. /ger
102.73 fop.af. /ger
120 f&r.30. /&rer

79.50 fop.3T. s5eT

Wheel of a bus is 1 meter diameter and rotating at 540 rpm. The speed of the bus is

oo oo

101.73 km/ hr
102.73 km/hr
120 km/ hr
79.50 km/ hr

dieR o arer dieel &1 3uAeT AT —— & forw foRar s ¥
a. ghAal A #AMF o 3T FIET W o & e

b. sl fagd AeT & e &= & faw

c. 3 TYF & v Fe 3uata sorg @ 3R WS aona 7 wfears @
d. ¥ereh & e & & faw

Square Head Bolts are generally used for

a.

b.
o
5 8

Fixing machine at appropriate places in workshops.

Fitting heavy electric motor

Place where inadequate space and difficulty in fixing spanner
Fitting in slots

Uh HIShIHCY HT I8 FH PBC ——— &l

a.
b.
c.

d.

0.05 far.a.
0.02 fa.a.
0.01 .3,
0.001 3.3

The least count of a micrometer is

a.

b
e
d

0.05 mm

. 0.02mm

0.01 mm

. 0.001 mm
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24,

25,

26.

FI/12

UTg @Y IS AT A Feprert F fow suAer & saet W@ (weeer) —

a.
b.
&

d.

AT BRI
Ahes BT B
TICTS BRI

o wrRrer

File used for removing metal in large quantity

a.

b
c.
d

Smooth file
Second cut file
Bastard file
Triangular file

5/8 & ZAHGT & ufkafda @i

a.
b.
&

.

0.58

0.625
0.875
0.058

Convert 5/8 to decimal?

a.

b.
c.
d

0.58

0.625
0.875
0.058

THIOAS I3 FT ProT —— F)

a
b.

2

d.

60°

58"
29*

The angle of ACME thread is

a.

b.
ol
d.

60°
37°
55°
29°
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27

28.

29,

Th WG & HET &F & 95 — ¥
a. AfcH

b. duasTey
c. THiuHAS

d. Jhd

Thread of lead screw of a Lathe is
a. Metric

b. BSW

c. ACME
d. Knuckle

Sq A U aF BAfF F gar ¥ q9 A u @ woeare e § UeR @l

——— e B
d. mm
b. KT fFe
c. e fpe
d. Tidsr fre

The type of fit in which the female part is fitted when male part is in hot condition is

called

a. Force fit

b. Ringing fit

c. Running fit
d. Shrinkage fit

I g @7 droT
60°
30°
90°
120°

o g op

=

The angle of prick punch is
a. 60°

30°

90°

120°

a8 o
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30.

ol

32,

FI/12

B¢ Dl 931 H & Tow 3oa1 fFaaranst grr suger & sare Y (wrRye)?

a. mﬂtﬁw
b. arfder wrIa
c. dIsd Hrgdl
d. Telr wrIe

The file used by Die makers for enlarging the hole?

a. Swiss Pattern file
b. Warding file

c. Needle file

d. Rotary file

goffasdl fahd & ede des & fov ugd fFu oaren desa fg
e

In engineering drawing, the welding symbol used for fillet weld is

fAeafafaa safien d @ feas dafter g dve & a7 A da e & & @ v
a. Seid JRaT

b. $T TU qINT

c. Wullg IR

d. dgfer dafie

In which of the following bearings, the bearing pressure is acting perpendicular to
the axis of shaft?

a. Journal bearing
b. Foot step bearing
c. Thrust bearing

d. Ball bearing
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53

34.

35.

ayor afhar gRT FH wd # 5w afewar 95 @ uw R ST gear ¥ @
e ¥
a. 3T3¢r 8
b. ST 6
3mSEr 1
d. 3rsdr 01

The tolerance grade which can be obtained economically by grinding process
1s

0o

IT 8
ITé6
IT11
IT 01

a0 op

30 H7/49 & HHST H d9'—— @ FAd i
a. ©¢ & PR

b. A% @ ITHR

c. fre

d. ey

In case of ®30 H7/49, the * d9  indicates :
a. Holesize
Shaft Size

b.

c. Fit
d. Allowance

g 240 A, U ga <aw & el AI3R & 40 @ @ & & 3@ AR @
AT ———— ¥

oo
[< TV, B N 0¥

a 0

If a gear has 40 teeth with pitch circle diameter 240 mm, the module of the gear is

o g p
o Ul
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/o7

37.

38.

FT/12

10x12x14 BT & TF FHAI H I@T ST TbeldTdl &3 H TG orars Far 22
19.96 WIE

d.

b. 18.69 Hic
c. 20.96 FIE
d. 17.96 Fie

What is the maximum length of rod, which can be kept in a room of-size 10 x 12 x 14
feet?

a. 19.96 feet
b. 18. 69 feet
c. 20.96 feet
d. 17.96 feet

SOA 3culed A Ffe H der ® AT wa & Ow gaw v wme @

——— @ed B

a. dUllcHh Hdibdqri
b. ST

c. JHAHSH

d. atuRadear

In mass production, parts made to definite limit of error is called as
a. Selective assembly

b. Tolerance

c. Allowance

d. Interchangability

ferdT 81 IoT W FATHR IWIT Eiga & fow W sgewor —

a. & I

b. ¥ TFAW
c. Tl

d. FelEEd®w

The instrument used for drawing parallel lines at any angle
a. T square

b. Setsquare
c. Scale

d. Clinograph
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34,

40.

41.

ReE ST & AR BT HOT u B Y & R v R

a.

b.

C.

d.

The file used for filing the internal right angle side of a job?
a.

b
@
d

AT PR BRI
RIT-UITY IS
2 HId
TFIIR B

Safe edge file
Knife edge file
Hand file
Square file

30 fBalf — IRT=m & TR T

a.

s

d.

I1/3
/6
I1/2
T1/4

30 degree is equal to ——— radians.

a.

b.
C.
d

I1/3
I1/6
I1/2
T1/4

(25 + V5) (25 - \5) =

a.

b.

C.

d.

420
320
620
600

(25 +\5) (25 - 5) =

a.
b.
o
d

420
320
620
600
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42,

43.

44,

FT/12

M Urg SET P Tl UG FHAATeT Tarere?
a. 3TU%QUT

b. oua

c. T

d. ek

The operation which provides strength to the sheet metal jobs?
a. Shearing

b. Blanking
c. Swaging
d. Piercing

AI3TSSH desdl & fAT A=Td: suAeT fFr Searer )
a. uHIfeea

b. EEEIT

c. 3miT

d. I gl

For TIG welding, commonly used gas is
a. Acetylene

b. Hydrogen
c. Argon

d. All of these

ST &1 v —— & v fear sman §
a. Sd & GIH o & fow

b. S P ks W@ &F fou

c. g H Th N A & faw

d. 3T Pl Gehs I@ qUT AT 3 & fow

Ajig is used for

a. Easy movement of the job

b. Holding the job

c. Setting work piece on the job
d. Holding and guiding the tool
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45,

46.

47.

A T F GE UF FIG BT A

b

c.

d.

s
73/2
T4
'Q'Z

The volume of a cube having side ‘a’

a.
b.
ol

d.

fArafofaa goug weleor &y e ——

a3
a3/2
at
a2

5x +3y =14
2x+ 7y=123

a.
b.
C.
d.

The value of “y’ for the given simultaneous equation is

29787
52/87
87/29
52/92

5x + 3y =14
2x+7y=23

a

b.
53
d.

Th e —

a.
b.

2

d.

29/87
52/87
87/29
52/92

4.564 e
4.724 Wi
4.546 ofieY
4.646 X

One Gallon is

a.

b.
&
d

4.564 litre
4.724 litre
4.546 litre
4.646 litre
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48.  w @1 Ut €@ yral @ g vw HIoT @ g1y V {TH(EE-v)g-dywa-a)) o R
ST §, e T8 ———— & e B
a. T+ &l + 41
b. TUxdrxdr
c. 1/3(@+dr+dn
d. % (T+d+H

Area of a triangle having sides a, b, & c is given by V{5(S-a)(S-b)(S-c)} where ‘S’ is
equal to

i a+bte

b. axbxc

c. 1/3(@+b+c)

d. Y2(a+b+c¢)

49. U HIYROT U3 & & upl & frg dfdE Hon
a. 75°
b. 120°
c. 145°
d. 94 ¥ ve o &

The included angle between two sides of a regular hexagon

a 75 |
b. 120°

c. 145°

d. None of these

50. U@ Za T & form oo o1 weipa fpar Sar ¥
a. o1 o1
b. &I AR g
c. 9

d. =& ¥ te ot adi

In a drill jig, which part is hardened
a. Jig Body

b. Body and bush
c. Bush

d. None of these
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